M243

gl 3o

23 Triy. Subg thuhow

Ex. A frus 15: N 3
! (x-h)" + (4-k)= o™
//;_'}_: L — x !
( 13 (X"'K)z-l' ?L—;Fl
o nbm \_/P L : _J
6“] : Bud He wohime .
L u
R\ — ;
T A= 21Tf-L
-me l-ul r\
2. p-—'——“’—?u
/ \ fh=g=JrE-(-R
o R " l‘o >y 4=R-r
\ S~ L‘R‘{’f
D A4 =YX
b ~b Ror -
£ V=] Amdes ) Tampl des an | e oen
) R{r
Rt v
Vaym | x ) ~Ger\E dx =‘€f\(\mQJ e du =
b r J
R-v ~r
U=x—K — X=u+g uw(kr) e Rv—R = r
JM’ dx \A(K-V)= R-r-R = -r
rsk ' r

=41 ) W e Tdw kT SRAr-w du

-



. S -
u= rsfme é“"’) 5M B" T— ~> 0'= Sihl(%')

du= veosbd olr) = s.‘d'(%) = ¢n (1)F T

o(-r)e sil(E) =~ lly= TR

M aly
= R l\. JT’(I-;ik"‘b’) rcos® Jo < K( r*ces 0o
:41/2 -I'\\'/z
T 0
fad [ A\
op | (vl do - R [pedinby] ™
-vf/z - - .J.Tr/).
= LRAM(T) | s ()~ sik)
/0 2
_ R
2

V- (T3 =t o avker |
T

,., x ‘ (\Q‘L‘t“l?-
I R (e
> - ((x"-!@y*"~?-l)
‘\'\;;2 w= 3N )(£ = (, AL .2

- - \ N -)
X+ —4i
-1/ = -2(14x) d¥ L : o

(
{ = i f—




. +
e X+l = s b A= asub-| sl = ?'c'i-,'
dx = 2 wsode o= cin (L)
= ( 256 Yo B = (1;.»\0—' do f
) S / 2/ \ xt
= Awh -6 +C /o A
P T
= =) [Fae - aein((L) +c
2




